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Questions

Every country should have population

Specialization of labour has the advantage.

Sagib graduated one month ago. He is still unemployed. His unemployment is

The set of skills and abilities that workers possess for production of goods and serves is

Labour force participation rate is the

Labour input includes

Unemployment due to mechanization of agriculture is

Mobility of labour

All labour is

Productivity of labour can be increased by

According to Malthus, population increase by

Answers Choice

A
. constant
. optimum
. fast growing
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minimum

. increased production
. introduction of new technology

increases in self-sufficiency
a and b of above

. structural
. frictional

seasonal
personal

. motivation

wealth

. human capital
. natural talent

. proportion of population that is

working

B.

proportion of population aged

above 20

C.
D.

proportion of skilled workers
proportion of female workers to

male workers
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inventor
innovator
unskilled worker
all of the above

seasonal
structural
industrial
personal

increases efficiency of labour
decreases wages of labour
increases division of labour
a and c of above

homogeneous
heterogeneous

lazy

. intelligent

raising minimum wages

. reducing profits
. increasing skills of workers
. punishing absentee workers

. arithmetic progression
. geometric progression
. systematic progression
. automatic progression



